MEEANSETAIDFEHEENESE
STAEEREE (EEHR : REFREAEE L)

it i oL it Bk ER
O $3,000,000) 4 O% $10,000
EOHED $1.000,000] 51 (b ECE 1 $62,513
ST $6,000,000| = e SRAN 31T $2,000
EOIT $100,000| EEZIERE $33,100
BOM $6.000| Kz %= $8.400
PORL $10,000| K [E 4if $4.200
MO $2,000| & 2 P a Fh AR E $8.,400
HORE $3.000|E=OFt% $6,000
O $10,000|1 kO $50,000
BROFE $1,000|2= O $50,000
O $2,000| B & 1245 TR (7 A PR A ] $30,000
HOB $3,000| = I (2 i 2L $10,000
BRO#E $1.000[FEORE $1,000
e $10,000| 5 OFE $2,000
7n BV A RN E] $30,000|F Ot $20,000
BB $6.000]#H# O $10,000
#rOAL $100,000|5O% $5,000
g Ob $1.000[5R OB $5,000
O $200,000|5&O ) $1,500
BOE $50,000{ RO $1,500
BOfE $100,000{t% O $2,500
O $50,000|41 O& $7,000
BEO# $200,000|1ZFO%% $500
BOZ $6,000{FEOE $2,500
EORE $3,000 & b i $10,000
O $10,000| B & $16,385
£20) $1.000 [ EEk $16,385
BO%k $500 | Bk 5 ¥ $16,385
MHO= $300| EA1E $16,385
EEO#K $1.000[Z1O% $10,000
#FO $200[5FO $10,000
EOE $1,000) B8O $1,000
BROE, $1,000{ F=OFE $2,000
O $10,000) s O $200
O $150,000]tROZ= $100
#®OHE $1.000(#5OF5 &= $1,000
BOZELk $2,000|E= O $5,000
RO $2,000[HO & $2,000
HO% $1,000{FEOJI $6,000
O $10,000|FOH $1,000
BOH $50,000|#FO 4 $500
A OL $1,000)5FOL $300
BO% $200,000[EE O & $10,000
BO# $10,000) s O $10,000
O $1.000{FEOH $10,000
SO# $1,000{= O $10,000
O $2,000) R O % $2,000
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AHEOE $1,000{5ROFF $10,000
Z08 $2,000) i O % $5,000
ZOEE $1,000) B O%tE $2,000
HOIR $10,000[F O () $50,000
g O $1,000{FIOEZFr4k $10,000
HROR $1,000|/FHOF $5,000
PO $1,000| PO $1,000
BROHi 5 $1,000)F O $10,000
= O $1,000|2F O $1,000
O $1.000(#ROBE $1,000
O $1,000) 21 O%tE $1,000
BOHE@H#) $100,000|3F O %5 $1,000
F O $1.000[#O%% $1,000
FO4 $2,500[3LOH $10,000
ZO® $5,000{FFOE $1,000
=OA $700|BEOE $1,000
O $300|BEOZ $1,000
F O $500[=O8E $1,000
EOE $1,000{#kO11 $3,000
F O $1,000|E=O%%k $1,000
s O $500[75 O $1,000
O $500[sEOK $1,700
BIOkE $1,000|F#H Opk $600
210 $100,000{ 5Ot $600
OB $650[FRO & $600
AEOE $2,000|E OR& $600
RO $650[E O% $600
FEOLE $200[FO= $1,200
O $5,000|E= Ot $1,200
EEOH] $50,000|=OF $1,200
EROEHD $1,000)FEORk $600
BOfE $50,000)5FOEF $20,000
B O $2.,000) & O <52 i $7,000
ZEOWR $2,000|5TFOF% $5.000
O $2,000/#8 Ot $1,000
HOX $1.000[E OHBH $10,000
FOZ $2,000| O $1,000
HO%E $2,500) 8 OF 55 $600
OB $2,400[= 07t $1,200
EMESE $100,000| =0+ $1,160
WEIEE $60,000| PO F3k $500
=B fiESC $200,000[5FO1H $2,000
JHEEST $3.600|5TO% $2,000
TRIEST $30,000|3F Otk $2,000
B fH ST $10,000)FOf= $1,000
=&5F $6,000[# O $1,000
IHEsF $50,000|/FOF $1,000
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JEBHSE $20,000[Z£OFF $500
HPETEE $12,000| = O $10,000
RS $100,000|#x Ot $1,000
R EER AR AE $100,000|FEOF% $1,000
HhEE R EGE (M e $50,000{2£O% $1,000
BEFE R —[E $100,000|EEO% $500
FE 2 i (Seck Hui Siong) $200,000{ROZEK $1,000
Jl FH 25 AR $7,200| O $6,000
FALLIE $12,000|F2OH $6,000
=L $4,800|#5 O3 $10,000
e $4,800|FFF=F $4,000
BOREX $2,400|EE/EAR $23,400
LIH—E $4,800| FEE L $4,875
fRIE $4,800| S & $23,400
IEARFEN $4,800| {1 $23,400
BEE $4,800 | FEHE L $4,875
i EHEARD $4,800 | FE /= L $4,875
VB 32 $4,800|FEZEfE L $4,875
& Z MR ERR $4,800)57 Ok $250
HITTF5 $12,000[sxOF $250
] & FE =E $2,400|52 O $250
FALLIEE E $12,000|EEOFA $250
HEFBCUER S $24,000{ZZ 0% $500
505 $1,000[Z2OZk $1,000
FOmn $10,000|FEOJAL $1,000
=@, $1,000[£ORF $1,000
O $1,00015FOF& $6,000
=OJ $1,000[5FO& $1,000
BEO® $1,000|FEOHH $30,000
T LOM $5,000|5x OREJEL $100,000
TTOER $5,000|1 RO $2,000
RO $2,000|1220%E $3,000
EEOEER $50,000[FR OB $10,000
=OE $1,500|EF O $10,000
BEORE $100,000[EFO#E $2,000
OJIl $3,500,000[EO B ZE $1,000
OJIl $3,284,245 | B Ok $2,000
BOFD) $300,000[#x O $1,000
ZOlig $50,000[#xOE $6,000
BO® $5,000| &R O3liE $2,000
PROTH+ $100,000{Z=O%ii 5 $2.,000
FOZ $1,0007EOFE $200
BO%E $1,000)78 O $200
BOHE $5,0007 O & $200
BOLE) $50,000( & O % $100,000
BEOLED) $50,000{ HOEHE $5,000
O $10,000{FHO 3 $5,000
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=HOH $2,000[;& OF]#E $10,000
OBk $1,000[EOH $5,000
%O $2,000EOF $1,000
—0O%T $8,000{ 2O E{#0) $500
RO $5,000(;& OHE $10,000
HOZE $1,000{ZE Ot $1,000
fFOH $6,000|58O A 45 $500
BO®& $50,000|17%:0 A K $500
B O $1,000/FEO= $100,000
#O $5,000(BE O $500
SO $10,000[E O & $10,000
EOZ $200[BROBE $20,000
ROt $1,000[FEO $5,300
FO $2,000|=0O%TF $200
O $1,000|=0O%F $2,000
S O $1,000|FE Ol $200
2107 $2,000[FE O $5,000
ZO&E $2,500|EFO%E $1,000
BOE $1,0000O % $1,000
EOBE $200[EF O %= $1,000
ZIOLE $2,500|EROF% $1,000
HOE $200[BEOE $6,000
T A $12,000|BEO40 $2,000
TS $40,000EOfK $1,000
BEOX $10,000[O&H $50,000
=0%F $300| & FEMEEE L EE T $20,000
AEORF $1,000{{sf O & $10,000
BOZEH@R) $100,000[FH O $1,000
A0 $1,000|FRO% $1,000
EO $60,000| FOFE $500
HRO%uE $5,000(F O $1,200
BHOR $20,000[&£ Ok $500
ZEOT5 $600[H O% $5,000
KH/INIZIE $500[FO & $1,500
RO & $2,000|=HOZFE $500
HOFER $1,000[{HOE $500
BOZ $15,000( % OHAHE $100
HOEH $10,000|B O $100
O $10,000/820OH $1,000
PO $300| & OFHk $2,000
RO $10,000{= Ok $10,000
BmOE $5,000{FOJI| $1,000
BOE $100,000[#AO $100,000
—0O%+ $10,000|EB O %) $100
BOSH $15,000[ % O $100
BRO& $300[% O& $100
EEOfE $17,000|8 O $100
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EEORL $17,000| =0+ $700
BOMGED $17,000| £ O $4,000
BOK $100,000|FORKE $1,500
FROLE] $2,000[ZROHIEE D $1,000
HOH $1,000[;5%O1E $5,000
BROFE $10,000[E=OH $5,000
PROEL $10,000)5=OFE $10,000
EOE $10,000[ZIOF $5,000
RO $10,000) = OFF $10,000
PR O $1.000 Ot $1,000
PROFE $500[Z O $50,000
BROL $600[t OF $3,000
#O $2,000[E O $3,000
BROHL $3.000) PO $20,000
£OF $1.000FE O $500
B ORET $1,000FEO= $500
HOFE $1,000[FEOE $500
BOE $10,000| = OHA $2,500
BORE $100,000{21O 5 $500
BRO#A $2,000[#FOE $10,000
HOFR $10,000{21O4C $1,000
HFOE $10,000| RO it $1,000
EOEGE) $10,000|F#HO#2 $3,000
AOER $10,000| 2O #E $5,000
BEOLC $10,000[#ROZE $2,000
BO $10,000/#£O4 $500
EHOR, $34,000|F O T $2,000
groOE $10,000) B OfE $5,000
fi O3 $1,000|FO%% $400
FOHE $10,000|FBOE $400
MORE $10,000)HOFE4L $600
EOZE $10,000)E= O $10,000
FOH $50,000[F=O $1,000
ROFH $2,000( ¥ O $10,000
7 O1E $5.000)E Ot $200
7 O1E $5,000{#OF5 $500
iTOF5 $10,000|#FOEE $300
BRORE $3,000| 5= O $1,000
FO% $10,000[Z=O%F $1,000
5O $16,000|O=H $1,200
BHOE $100,000]| EOH $3,000
=OR $5,000| 0% $1,500
B0 $5.,000 &k OHA $700,000
BIOFE $5.000) &k O%E $350,000
BROB $5.000) &£ Of# $350,000
=OE $10,000[FEOl7 $60,000
BORE $10,000[BROFE $1,000
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BrOTE $10,000|3FOFHE $20,000
EHONR $33,000[BROZE $5,000
=OHE $50,000[7k O $2,500
BO $10,000{ =0+ $5,000
E Ol $10,000{ =0T $5,000
BO= $10,000{ =0T $10,000
BO $10,000[5Z O )i $5,000
5O $33,000/ RO 5% $5,000
BOZE) $100,000)#O & $5,000
THEREGEEZSE $200,000|2F O3 $2,500
HEFHBCULATm e $257,500[Z OBk $50,000
MHOIE $1,000| FO= $2,500
ZORESE $500| RO $1,000
HOFE $5.000[{EO== $1,000
FOM $1,000| &£ O $1,600,000
PROZE $100,000|5F O $10,000
RO $100,000| R EIFE £ $4,000
FEORGE) $25,000[FROfE $5,000
#FOLY $10,0001 77 O%E $1,200
=OH $12,000|EOF $2,000
O $200,000|#R O ¥ $10,000
BOE $100,000[FE O $1,000
=0% T $500|HOZ $1,000
FHOH $1,000]BROH: $10,000
=0%F $10,000| 8 O $1,000
HEOEH $25,000|121OF $2,000
A U $20,000| 52 OF5 $50,000
£ZO% $1,000)22 Ot $400
=OM $500|/& #=F $100,000
O $500| TTAA1ESF $500,000
BOE $1,000{ PO $5,000
FLOK $300| EOFEE $10,000
L O $2,000) B O% $10,000
=OZE $2,500| Oz $10,000
BROB $1.000|BHCO 4 $10,000
BIOFE $500[#FO= $10,000
PROZH $500| 2O $10,000
BOTE $1.000[# O $5,000
=05 $500[FROE 5 $1,000
FROE $500[#AOEL $1,000
BHO% $10,000|5E O $1,000
AEOE $500[BROLTY $1,000
=0% T $300[HE O $1,000
s $1,000|F O $1,000
RET $100,000|ZFO% $1,000
O $2,500| 5 O $1,000
HOZE $2,000[FEOE $1,000
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BOHED $50,000{E1O%E $1,000
BEO= $50,000[BROBE $2,000
=0O% T $200[#F O $200
=0% T $200) O $10,000
PROZE $5,000| F£OPHZF $10,000
FAGK $1,000[8FOFHH $30,000
B OXE $300|BEOTE $5,000
£Z0H $300[BROHE $1,000
=OH $10,000{# OBk $200
O $5.000| 21O $200
BRORE $2,000|F O $1,000
A O $10,000|F 0O $1,000
SO $10,000|1Z= O X $1,000
BEOH $2,000{Z= O $1,000
O $2,000)|FO8 $1,000
O $1,000(F EQfHEE $500
FOF $1,000) %O $600
AEOTE $1.000) &k OFR & $600
RO $600|BEOIE $10,000
£ @F: $500[FEOZ& $4.000
BRORE $500[B8 OB $3.800
BROS $1,000| i = ET 1 $64.,140
HORE $17,000| B S $3,207
s O4 $2,000| Lo =1 $6.414
7 O1E $5.000) & fi e = $6.414
sTOF $10,000| =545 $3,207
FO% $10,000| H A= $3,848
£0% $300[ FIR"E $3,207
MO $1,000| 2= $3.207
BROZE $2,000| &4 R $1,604
HEOKX $300| FH-Co2E $1,604
HEOHR $1,000| E=afhi = $962
TOEE $10,000|5R A TS $962
RO $1,000)3L O/ $1,000
JBO%K $20,000)3O % $1,000
T ORAER $1.000|210H $5,000
PROZE $1,000|EO%) $2,000
ORI $1,000|EOE $1,000
BEOREED $3,000[FE O % $2,000
FROEY $500[= O $3,000
RO $1,000{ O $2,000
= OFF $500| 5= O $2,000
FO%E $5,000[# O $2,000
O $1.000 O E $30,000
BOZ& $10,000| 5 OFE4L $600
EORIL $10,000|ZEOEY $600
EOH $1,000)3O%% $5,000
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=OR $5,000[# O $120,000
ROFEE $10,000{#AOH $2,000
BEOE $1,00012 0% $1,000
BOFE $5.000|E= O $5,000
LOSTE $5.000)5ROFE $10,000
TOE $5,000|# O % $1,000,000
BRO i $500(ZB O $1,000
BROZE $500 R O $10,000
BROF $50,000]EE OFEEE 0 $10,000
H OHE $1,000[EFO B (&) $5,000
ZFO58 $6,000] 5 O=L $3,000
BOS $500[fE O $10,000
FHOrtE $200[# O $300
FEOTE $10,000#FOfF $500
=O# $1,000|=O%F $2,000
HOE $1,000| =O %+ $2,000
ROz $5.000{ =0 $2,000
BRORY $500[2£ Ozt $500
=0%F $2.000[fE OEL $10,000
=0% T $8.000) ¥ O $50,000
=0% T $20,000|HO$ $1,000
FORED $300[# O $1,000
RO $1,000| =05+ $1,000
SO $10,000[FEO F4 $5,000
= OW $5,000iE4 2= I $1,000
= OW $5.000[EEOAT $2,000
= OHEH $1,000)EEOF $1,200
KOZE $625| 5= O54 $10,000
SO $420FE O ZZ2(HD $50,000
£20% $175[BERORK $1,000
204! $275)%O% $1,000
ROEEAE $500[FEO1E $1,000
FROZE $1,000/E OF $2,000
HOTT $1,200{210OFA $1,000
O£ $500[FE O $5,000
HOZF $500[ZFOZ $10,000
BEOE $625 |15 Ot $1,000
BOH $625[FEOZ& $50,000
RO $625[FEOZ& $50,000
FRO%E $420[ Ol $2,000
FOE $420[F=0O¥ $2,000
HOZL $420[FHOEE $500
CLO $420[tT O $1,000
FOJk $175|=0%H+F $1,200
HOE $175[MOFL $1,000
TO% $175| M BEUVAE NACIEZEE=ST $100.,000
FEOTR $275|1EFR & $100.,000
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BOH $275|F O $500
BROE $275[#O $200
FO=E $500)BEOTE $500,000
FESEAE $125,000{ F=OM5 $2,000
BROFT $500[PROE $10,000
iz O1E $5.000[FR O $500
BIO% $5.000[FRORE $2,000
RO & $5.000{E O $200
(El@) $20,000) B Ot $100,000
L O% $500| =0+ $5,000
BOEE $600| =0+ $14,000
w=OEAE $30,0003:O $100
SOEMD $4,000|FFOE $5,000
A O%k $600[ =0+ $1,000
%O $100|PBEROEE $10,000
EOBk $2,000)EEO 2= $2,000
= Ol $1,000) KO8 $10,000
BEOH $500

/et $23,726,345 /et $8,177,089

A

[

$31,903,434




